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5 R 4 ﬁqé){ ‘Fﬁrﬁb\(?)@ﬁﬁ%ﬁ jj(g')\lj/kn%é X 4 ‘Fﬁﬁgﬁ%g;k‘?u ‘(.%r‘n%< jj(g')\;tnié X 4 E.g,r'na; J:ﬁﬁ;ﬁ\(ﬁ)wtt‘.% jj(gi;tnié X 4 ﬂﬁb\(ﬁ)@tt% z.%r‘n? t(gifn?)é
; 100kN/mM##8Z % - ~ -|3mZEBZD -~ - -| 100kN/mM%#8Z% % - ~ -|3mZi#BZ 5 ~ -
ZznLst 1.00 1000 ~ 674 71.76 | =S | 000 ~ 574 1.93 9.75 Zzh s 1.00 | 5.00 ~ 6.90 71.76 | EnLS | 6,00 ~ 6.90 | 1.93 9.75
2 100kN/mM#%#8Z % ~ -|3mZEBZD ~ -| 100kN/m%#8Z% % ~ -|3mZi#BZ 5 ~
ZznLst 1.00 | 0.00 ~ 527 65.74 | TN | 000 ~ 000]1.76 8.89 Zzh st 1.00 | 5.00 ~ 56.70 65.74 | TnS | 600 ~ 5.70]1.76 8.89
3 100kN/mM#%# 8% % ~ -|3mZE#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 571 71.37 | EnS | 000 ~ 571 1.97 9.98 zh st 1.00 | 5.00 ~ 7.10 71.37 | #ns | 6.00 ~ 710 1.97 9.98
4 100kN/mM#%#BZ % ~ -|3mZE#BZ 5 ~ -| 100kN/mM%#B =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.34 79.76 | EnS | 000 ~ 634|200 10.13 zh st 1.00 | 5.00 ~ 8.560 79.76 | EnS | 65,00 ~ 860 | 2.00 10.13
5 100kN/mM#%#BZ % ~ -|3mZE#BZ5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
zhnst 1.00 | 000 ~ 453 56.562 | TN | 000 ~ 453|222 11.22 ZThLLst 1.00 | .00 ~ 6.90 56.52 | TNUSY | 5.00 ~ 6.90 | 222 11.22
6 100kN/mM#%#BZ % ~ -|3mZE#BZ5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.64 83.73 | #nS | 000 ~ 664)1.79 9.05 zh st 1.00 | 5.00 ~ 8.00 83.73 | #hst | 5.00 ~ 800|1.79 9.05
- 100kN/mM#%# 8% % ~ -|3mZE#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
Zh s 1.00 | 0.00 ~ 700 88.82 | #FnLust | 0.o0o ~ 7.00| 200 10.11 Zh st 1.00 | 5.00 ~ 9.90 88.82 | #nst | 500 ~ 9.90 | 2.00 10.11
s 100kN/mM##BZ 5 ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
LS 1.00 ] 000 ~ 655 8252 | #nst | 0oo ~ 655|265 13.38 zhst 1.00 | 5.00 ~ 1050 82.62 | NS | 5.00 ~ 1050 | 2.65 13.38
9 100kN/m##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
Zh s 1.00 | 0.00 ~ 680 86.00 | #nhlst | 0.00 ~ 680|203 10.25 ZThLlst 1.00 | 500 ~ 9.70 86.00 | #nst | 500 ~ 9.70 | 2.05 10.25
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~
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